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Ol & 2 FNXE XE LF (7.27~7.31)

Yt =t ZH X & CH 4 9= Y K| (L HIX]) O| HX]
7€ 27 o8 [{2Z Sot53 M3(YoY) 68 C 5.1% 5.0%
=Y IFO 7|HetE Rl 74 B 108.0 107.4
o= LT =2(MoM) 68 A 3.4% -2.1%
72 28 o= S&P/CS FEWIFHR| 4= 58 B 172.08 170.14
AH[XEZ|CHX| 74 B 90.9 99.8
FOMC &e2l9| (7/28~29)
7829 ot SOIH IHE(YoY): 29~312 & = C NA 0.5%
HiSLE BHZ(YoY): 29~31Y & = C NA 3.1%
== B8 X|2=(MoM) 6¥ B NA 98.97
o= FOMC 22/2% 74 A 0.25% 0.25%
T YT (MoM, SA) 6¥ B 1.1% 0.9%
MBA Z7|X| 2IHX|4=(WoW,SA) 7H 4% B NA 0.1%
7930 2d QEE FIP|tX|s 7€ B 103.5 103.5
FREE AHIX (X THEF B NA =7.1
o= GDP(QoQ,SAAR) 20A A 2.5% -0.2%
AT Mg HRHA(SA) 7A-RES B NA 255K
7¥31Y o= E3YLHYoY) 6¥ A NA -2.8%
BSI-HIZL(SA) 8gl C NA 67
U= AHIXFEIHYoY) 6¥ B 0.3% 0.5%
2d [2E MAE 6¥ C 11.1% 11.1%
[EE AHXSIHYoY) TEA B 0.2% 0.2%
o= AlZta PMI 7Y B 50.5 49.4
O] AIATH AH|XpA 2K~ TEF B 94.0 933
=B3R5 = FHXES FYHS BAR ACZ A= ZHHY0| 2 =R0| &= i HE XH. SFFE2 &K 7|1




